Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World




VVVYVYYVYVVYVYYVVYY

Table of Contents

English Page 3
Deutsch Seite 13
Francgais Page 23
Espafiol Pagina 33
Italiano Pagina 43
Nederlands Pagina 53
Polski Strona 63
Portugués Pagina 73
Cestina Strana 83
Romana Pagina 93
Magyar Oldal 103
Svenska Sida 113

Norsk Side 123




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

User’s Manual

) L
EN - ==




SAFETY & COMPLIANCE INFORMATION

Product Name: LifThor Tripod bracket for DJI RC PRO 2
Model Number: LTH-TRBRP2

Batch/Serial Number: SN2025XX (refer to product label)

Manufacturer:
EURYCA AS/ Thor’s Drone World

Revdalsvegen 47, 7563 Malvik, Norway

Email: thor@thorsdroneworld.com

EU Responsible Person:
Tore Kvittem

Revdalsvegn 47, 7563 Malvik, Norway
Email: support@lifthor.com




A SAFETY & COMPLIANCE INFORMATION

This product complies with the General Product Safety
Regulation (EU) 2023/988.

Full technical documentation and Declaration of
Conformity are available upon request or at
www.lifthor.com/product-safety

The technical file is maintained by the EU Responsible
Person and will be kept for at least 10 years from the date
this product is placed on the EU market.

For inquiries, translated manuals, or safety questions,
please contact support@lifthor.com.




Package Contents:

e 1xTripod bracket

e 1xPre-Installed Quick Release bracket
e 2 xthumb screws (M4x8)

e 2 xhexkeys

e  2x(1/4"-20) button head screws




How to mount:

Align the tripod bracket to the controller mount as shown.
Secure it in place using the provided M4 thumb screws.




Pre-Installed Quick Release bracket

Your LifThor tripod bracket for DJI RC PRO 2 comes with a pre-
installed quick release bracket for added convenience.




Tripod Installation

Attach the bottom piece to your preferred tripod—such as the
StrapThor PRO Body Tripod.

We have included two (1/4"-20) button head screws and the
corresponding hex keys. The bracket has two mounting holes —
choose the one that best fits your tripod.

Only one screw is needed.




Final Assembly

Once both parts are securely installed, you're ready to go.
You can now mount and unmount your controller with a simple
click of the red button.




A SAFETY WARNINGS

This product is not a toy. Keep out of reach of
children

Ensure all screws and mounting components are
securely fastened before each use.

Use only with compatible devices as specified by
LifThor.

Avoid modifying or tampering with structural
components.

Improper use may result in damage to your
controller or connected devices.

Always inspect the product before each use to
ensure safety and stability.

This manual is available in other EU languages
upon request.




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Benutzerhandbuch
DE - .




A SICHERHEITS- UND
KONFORMITATSINFORMATIONEN

Modellnummer:LifThor Tripod bracket for DJI RC PRO 2
Modellnummer:LTH-TRBRP2
Chargen-/Seriennummer: SN2025XX (siehe Produktetikett)

Hersteller:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Bevollmachtigter in der EU:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ SICHERHEITS- UND
KONFORMITATSINFORMATIONEN

Dieses Produkt erfillt die Anforderungen der EU-Verordnung
2023/988 lber die allgemeine Produktsicherheit.

Die vollstandige technische Dokumentation und die
Konformitatserklarung sind auf Anfrage oder unter
www.lifthor.com/product-safety

verfligbar.

Die technische Dokumentation wird vom EU-Bevollmachtigten
verwaltet und mindestens 10 Jahre lang aufbewahrt, beginnend
mit dem Zeitpunkt, an dem das Produkt in der EU auf den Markt
gebracht wurde.

Fiir Anfragen, ibersetzte Handbiicher oder sicherheitsbezogene
Fragen wenden Sie sich bitte an support@Ilifthor.com



http://www.lifthor.com/product-safety

Lieferumfang

e 1 x Stativhalterung

e 1 xvormontierte Schnellwechselhalterung
e 2 xRéandelschrauben (M4x8)

e 2 xInbusschlissel

e 2 xRundkopfschrauben (1/4"-20)




Montageanleitung

Richten Sie die Stativhalterung wie abgebildet an der Controller-Halterung
aus. Befestigen Sie sie mit den mitgelieferten M4-Randelschrauben.




Vormontierte Schnellwechselhalterung

Ihre LifThor-Stativhalterung fiir DJI RC PRO 2 wird mit einer
vormontierten Schnellwechselhalterung geliefert — fiir zuséatzlichen
Komfort.




Stativmontage

Befestigen Sie das untere Teil an lhrem bevorzugten Stativ, z. B.
dem StrapThor PRO Body Stativ.

Im Lieferumfang enthalten sind zwei Rundkopfschrauben (1/4"-
20) und die passenden Inbusschliissel.

Die Halterung verflgt Gber zwei Befestigungslécher — wahlen Sie
das Loch, das am besten zu lhrem Stativ passt.

Es wird nur eine Schraube bendétigt.




Endmontage

Sobald beide Teile sicher befestigt sind, ist das Produkt
einsatzbereit.
Sie kénnen Ihren Controller nun mit einem einfachen Klick auf
den roten Knopf an- und abmontieren.




A SICHERHEITSHINWEISE

Dieses Produkt ist kein Spielzeug. AuRer Reichweite
von Kindern aufbewahren

Stellen Sie sicher, dass alle Schrauben und
Befestigungsteile vor jeder Nutzung fest angezogen
sind

Nur mit kompatiblen Gerdten verwenden, wie von
LifThor angegeben

Verandern oder manipulieren Sie keine strukturellen
Komponenten

Unsachgemaler Gebrauch kann zu Schaden am
Controller oder angeschlossenen Geraten fiihren
Uberpriifen Sie das Produkt vor jeder Nutzung auf
Sicherheit und Stabilitat

Dieses Handbuch ist auf Anfrage auch in anderen EU-
Sprachen erhiltlich




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Manuel d'utilisation

FR-1 B




A SICHERHEITS- UND
KONFORMITATSINFORMATIONEN

Nom du produit : LifThor Tripod bracket for DJI RC PRO 2
Numéro de modéle :LTH-TRBRP2

Numéro de lot / série : SN2025XX (voir I'étiquette du
produit)

Fabricant :

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Représentant dans I’'UE :

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ INFORMATIONS SUR LA SECURITE ET LA
CONFORMITE

Ce produit est conforme au réglement (UE) 2023/988 relatif a la
sécurité générale des produits.

La documentation technique complete et la déclaration de
conformité sont disponibles sur demande ou a I'adresse
suivante :

www.lifthor.com/product-safety

Le dossier technique est conservé par le représentant
responsable dans I'UE pendant une période d’au moins 10 ans a
compter de la mise sur le marché de ce produit dans I'UE.

Pour toute question, demande de manuel traduit ou
renseignement de sécurité, veuillez contacter :
support@lifthor.com



http://www.lifthor.com/product-safety

Contenu de I’emballage

e 1 xsupport trépied

e 1 xsupport adégagement rapide préinstallé
e 2 xvis moletées (M4x8)

e 2 xclés hexagonales

e 2 xvis atéte bombée (1/4"-20)




Instructions
de montage

Alignez le support trépied avec le support du contréleur comme indiqué.
Fixez-le a I'aide des vis moletées M4 fournies.




Support a dégagement rapide préinstallé

Votre support trépied LifThor pour DJI RC PRO 2 est livré avec un
support a dégagement rapide préinstallé pour plus de praticité.




Installation sur trépied

Fixez la piéce inférieure sur le trépied de votre choix, par
exemple le StrapThor PRO Body Tripod.

Deux vis a téte bombée (1/4"-20) ainsi que les clés hexagonales
correspondantes sont fournies.

Le support dispose de deux trous de fixation — choisissez celui
qui convient le mieux a votre trépied.

Une seule vis est nécessaire




Assemblage final

Une fois les deux pieces solidement fixées, votre équipement est
préta I'emploi.
Vous pouvez désormais monter et démonter votre contréleur en
appuyant simplement sur le bouton rouge.




A AVERTISSEMENTS DE SECURITE

Ce produit n’est pas un jouet. Garder hors de portée
des enfants

S’assurer que toutes les vis et les éléments de fixation
sont bien serrés avant chaque utilisation

Utiliser uniquement avec des appareils compatibles
tels que spécifiés par LifThor

Ne pas modifier ni manipuler les composants
structurels

Une mauvaise utilisation peut endommager le
contrbleur ou les appareils connectés

Inspecter le produit avant chaque utilisation pour
garantir sa sécurité et sa stabilité

Ce manuel est disponible dans d'autres langues de I'UE
sur demande




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Manual de usuario

s - ==




A INFORMACION DE SEGURIDAD Y
CONFORMIDAD

Nombre del producto: LifThor Tripod bracket for DJI RC PRO 2
Numero de modelo: LTH-TRBRP2

Numero de lote / serie: SN2025XX (ver etiqueta del
producto)

Fabricante:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Responsable en la UE:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ INFORMACION DE SEGURIDAD Y
CONFORMIDAD

Este producto cumple con el Reglamento (UE) 2023/988 sobre
seguridad general de los productos.

La documentacidn técnica completa y la Declaracién de
Conformidad estan disponibles bajo solicitud o en:
www.lifthor.com/product-safety

El expediente técnico es mantenido por el responsable en la UE
y se conservara durante al menos 10 afios desde la fecha en que
este producto se comercialice en la UE.

Para consultas, manuales traducidos o preguntas de seguridad,
contacte a: support@lifthor.com



http://www.lifthor.com/product-safety

Contenido del paquete

e 1 xsoporte de tripode

e 1 xsoporte de liberacién répida preinstalado
e 2 xtornillos de mariposa (M4x8)

e 2 xllaves hexagonales

e 2 xtornillos de cabeza redonda (1/4"-20)




Instrucciones
de montaje

Alinee el soporte de tripode con el montaje del control como se muestra.
Asegurelo usando los tornillos de mariposa M4 incluidos.




Soporte de liberacidn rapida preinstalado

Su LifThor Tripod bracket for DJI RC PRO 2 viene con un soporte de
liberacién rapida preinstalado para mayor comodidad.




Instalacidn en tripode

Fije la pieza inferior a su tripode preferido, como el StrapThor
PRO Body Tripod.

Se incluyen dos tornillos de cabeza redonda (1/4"-20) y las llaves
hexagonales correspondientes.

El soporte tiene dos orificios de montaje: elija el que mejor se
adapte a su tripode. Solo se necesita un tornillo.




Montaje final

Una vez que ambas piezas estén bien fijadas, su equipo estara
listo para usarse.
Ahora puede montar y desmontar el control con un simple clic
del botdn rojo.




A ADVERTENCIAS DE SEGURIDAD

Este producto no es un juguete. Manténgalo fuera del
alcance de los nifios

Asegurese de que todos los tornillos y componentes
estén bien ajustados antes de cada uso

Uselo solo con dispositivos compatibles segtn las
especificaciones de LifThor

No modifique ni altere los componentes estructurales
El uso inadecuado puede dafiar el control o los
dispositivos conectados

Inspeccione el producto antes de cada uso para
garantizar la seguridad y estabilidad

Este manual esta disponible en otros idiomas de la UE
bajo solicitud




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Manuale utente
T- 0 B




/\ INFORMAZIONI DI SICUREZZA E
CONFORMITA

Nome del prodotto: LifThor Tripod bracket for DJI RC PRO 2
Numero di modello:LTH-TRBRP2

Numero di lotto / serie: SN2025XX (vedi etichetta del
prodotto)

Produttore:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Responsabile UE:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ INFORMAZIONI DI SICUREZZA E
CONFORMITA

Questo prodotto & conforme al Regolamento (UE) 2023/988
sulla sicurezza generale dei prodotti.

La documentazione tecnica completa e la Dichiarazione di
Conformita sono disponibili su richiesta o al sito:
www.lifthor.com/product-safety

Il fascicolo tecnico e gestito dal responsabile UE e sara
conservato per almeno 10 anni dalla data di immissione sul
mercato dell’UE.

Per richieste, manuali tradotti o informazioni sulla sicurezza,
contattare: support@lifthor.com



http://www.lifthor.com/product-safety

Contenuto della confezione

e 1 xsupporto per treppiede

e 1 xsupporto a sgancio rapido preinstallato
e 2 xviti a testa zigrinata (M4x8)

e 2 xchiaviabrugola

e 2 xviti a testa bombata (1/4"-20)




Istruzioni
di montaggio

Allineare il supporto per treppiede con I'attacco del radiocomando come
mostrato. Fissarlo utilizzando le viti M4 a testa zigrinata incluse.




Supporto a sgancio rapido preinstallato

Il LifThor Tripod bracket for DJI RC PRO 2 & fornito con un supporto a
sgancio rapido preinstallato per maggiore praticita.




Installazione su treppiede

Fissare il componente inferiore al treppiede desiderato, come ad
esempio lo StrapThor PRO Body Tripod.

Sono incluse due viti a testa bombata (1/4"-20) e le relative
chiavi a brugola.

Il supporto presenta due fori di montaggio: scegliere quello piu
adatto al proprio treppiede.

E necessaria una sola vite.




Assemblaggio finale

Una volta fissati entrambii componenti, il dispositivo & pronto
all’'uso. E ora possibile montare e smontare il radiocomando con
un semplice clic del pulsante rosso




A AVVERTENZE DI SICUREZZA

Questo prodotto non € un giocattolo. Tenere fuori
dalla portata dei bambini

Assicurarsi che tutte le viti e i componenti di montaggio
siano ben serrati prima di ogni utilizzo

Utilizzare solo con dispositivi compatibili come
specificato da LifThor

Non modificare né manomettere i componenti
strutturali

Un uso improprio puo causare danni al radiocomando
o ai dispositivi collegati

Controllare il prodotto prima di ogni utilizzo per
garantirne la sicurezza e la stabilita

Questo manuale e disponibile in altre lingue dell’'UE su
richiesta




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Uzivatelska prirucka

CZ - o




A INFORMACE O BEZPECNOSTI A SOULADU

Nazev produktu: LifThor Tripod bracket for DJI RC PRO 2
Modelové &islo: LTH-TRBRP2
Cislo $arze / sériové ¢&islo: SN2025XX (viz &titek na vyrobku)

Vyrobce:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Odpovédna osoba v EU:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




A INFORMACE O BEZPECNOSTI A SOULADU

Tento produkt je v souladu s nafizenim (EU) 2023/988 o obecné
bezpecnosti vyrobk.

Uplna technicka dokumentace a prohlaseni o shodé jsou k
dispozici na vyZzadani nebo na adrese:
www.lifthor.com/product-safety

Technickd dokumentace je uchovavana odpovédnou osobou v
EU a bude archivovana po dobu nejméné 10 let od uvedeni
vyrobku na trh EU.

V ptipadé dotazd, pozadavki na preklad manualu nebo otazek
tykajicich se bezpecnosti nds prosim kontaktujte na:
support@lifthor.com



http://www.lifthor.com/product-safety

Obsah baleni

e 1xdrzak na stativ

e 1 xpredinstalovany rychloupinaci drzak
e 2 xSrouby s kfidlovou hlavou (M4x8)

e 2 ximbusové klice

e 2 x3rouby s pulkulatou hlavou (1/4"-20)




Montazni pokyny

Zarovnejte drzak stativu s upevnénim ovladace, jak je znazornéno.
Pfipevnéte jej pomoci pfiloZzenych Sroubli M4 s kiidlovou hlavou.




Predinstalovany rychloupinaci drzak

Vas LifThor Tripod bracket for DJI RC PRO 2 je doddvan s
predinstalovanym rychloupinacim drzakem pro vétsi pohodli.




Montaz na stativ

Pripevnéte spodni ¢ast k preferovanému stativu, naptiklad ke
StrapThor PRO Body Tripod.

Soucasti baleni jsou dva Srouby s ptlkulatou hlavou (1/4"-20) a
odpovidajici imbusové klice.

Drzak ma dva montazni otvory — vyberte ten, ktery nejlépe
odpovida vasemu stativu.

Pouziva se pouze jeden Sroub.




Jakmile jsou obé casti bezpecné upevnény, je produkt pfipraven
k pouZiti. Ovlada¢ mlZete nyni snadno pfipojit a odpojit
stisknutim Cerveného tlacitka.




A BEZPECNOSTNi UPOZORNENI

Tento produkt neni hracka. Uchovavejte mimo dosah
déti

Pfed kazdym pouZzitim zkontrolujte, Ze jsou vSechny
Srouby a montazni prvky pevné utazeny

Pouzivejte pouze s kompatibilnimi zafizenimi
uvedenymi spolecnosti LifThor

Neupravujte ani nemanipulujte s konstrukénimi prvky
Nespravné pouziti mize vést k poskozeni ovladace
nebo pfipojenych zafizeni

Pred kazdym pouZzitim zkontrolujte produkt, zda je
bezpecny a stabilni

Tento manual je na pozadani dostupny i v dalSich
jazycich EU




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Gebruikershandleiding

NL -




A VEILIGHEIDS- EN
CONFORMITEITSINFORMATIE

Productnaam: LifThor Tripod bracket for DJI RC PRO 2
Modelnummer: LTH-TRBRP2
Batch-/serienummer: SN2025XX (zie productlabel)

Fabrikant:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

EU-verantwoordelijke:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ VEILIGHEIDS- EN
CONFORMITEITSINFORMATIE

Dit product voldoet aan de Verordening (EU) 2023/988 inzake
algemene productveiligheid.

De volledige technische documentatie en de
conformiteitsverklaring zijn op verzoek beschikbaar of te vinden
op: www.lifthor.com/product-safety

Het technisch dossier wordt bewaard door de EU-
verantwoordelijke en zal minstens 10 jaar worden opgeslagen
vanaf het moment dat het product op de EU-markt wordt
gebracht.

Voor vragen, vertaalde handleidingen of veiligheidsinformatie
kunt u contact opnemen via: support@Ilifthor.com



http://www.lifthor.com/product-safety

Inhoud van de verpakking

e 1 xstatiefbeugel

e 1 xvooraf geinstalleerde snelkoppelingsbeugel
e 2 xduimschroeven (M4x8)

e 2 xinbussleutels

e 2 xbolkopschroeven (1/4"-20))




Montage-instructies

Lijn de statiefbeugel uit met de bevestiging van de controller zoals
afgebeeld. Bevestig deze met de meegeleverde M4 duimschroeven.




Vooraf geinstalleerde
sneloppelingsbeugel

Uw LifThor Tripod bracket for DJI RC PRO 2 wordt geleverd met een
vooraf geinstalleerde snelkoppelingsbeugel voor extra gemak.




Statiefinstallatie

Bevestig het onderste deel aan uw gewenste statief, zoals de
StrapThor PRO Body Tripod.

Er zijn twee bolkopschroeven (1/4"-20) inbegrepen, evenals de
bijpassende inbussleutels.

De beugel heeft twee montagemogelijkheden — kies het gat dat
het beste past bij uw statief.

Slechts één schroef is nodig.




Definitieve montage

Zodra beide onderdelen goed zijn bevestigd, bent u klaar voor
gebruik. U kunt nu de controller eenvoudig monteren en
demonteren met een klik op de rode knop.




A VEILIGHEIDSWAARSCHUWINGEN

Dit product is geen speelgoed. Buiten bereik van
kinderen houden

Controleer voor elk gebruik of alle schroeven en
bevestigingsonderdelen stevig vastzitten

Alleen gebruiken met compatibele apparaten zoals
gespecificeerd door LifThor

Wijzig of manipuleer geen structurele onderdelen
Onjuist gebruik kan schade veroorzaken aan de
controller of aangesloten aparaten

Inspecteer het product voor elk gebruik om veiligheid
en stabiliteit te garanderen

Deze handleiding is op verzoek beschikbaar in andere
EU-talen




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Instrukcja obstugi
PL - ol




/\ INFORMACJE DOTYCZACE
BEZPIECZENSTWA | ZGODNOSCI

Nazwa produktu:LifThor Tripod bracket for DJI RC PRO 2
Numer modelu:LTH-TRBRP2
Numer partii / seryjny: SN2025XX (patrz etykieta produktu)

Producent:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Przedstawiciel w UE:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




A INFORMACIE DOTYCZACE
BEZPIECZENSTWA | ZGODNOSCI

Produkt jest zgodny z rozporzadzeniem (UE) 2023/988
dotyczacym ogdlnego bezpieczenstwa produktow.

Petna dokumentacja techniczna oraz deklaracja zgodnosci sg
dostepne na zgdanie lub na stronie: www.lifthor.com/product-

safety

Dokumentacja techniczna jest przechowywana przez
przedstawiciela w UE i bedzie archiwizowana przez co najmniej
10 lat od daty wprowadzenia produktu na rynek UE.

W przypadku pytan, ttumaczen instrukcji lub informacji
dotyczacych bezpieczenstwa prosimy o kontakt:
support@lifthor.com



http://www.lifthor.com/product-safety
http://www.lifthor.com/product-safety

Zawartosc opakowania

e 1 xuchwyt statywowy

e 1 x wstepnie zamontowany uchwyt szybkoztgczny

e 2 xsruby radetkowane (M4x8)

e 2 xklucze imbusowe

e Instrukcja montazu2 x Sruby z tbem kulistym (1/4"-20)




Instrukcja montazu

Wyréwnaj uchwyt statywowy z mocowaniem
kontrolera, jak pokazano na ilustracji. Przymocuj go za
pomoca dotgczonych srub M4 z radetkowang gtowka.




Wstepnie zamontowany uchwyt
sybkoziaczny

LifThor Tripod bracket for DJI RC PRO 2 jest dostarczany z fabrycznie
zamontowanym uchwytem szybkoztgcznym, dla wiekszej wygody.




Montaz na statywie

Przymocuj dolny element do preferowanego statywu, na
przyktad StrapThor PRO Body Tripod.

W zestawie znajdujg sie dwie $ruby z tbem kulistym (1/4"-20)
oraz odpowiednie klucze imbusowe.

Uchwyt posiada dwa otwory montazowe — wybierz ten, ktory
najlepiej pasuje do Twojego statywu.

Woystarczy uzy¢ jednej Sruby.




Montaz koncowy

Po solidnym przymocowaniu obu czesci urzadzenie jest gotowe
do uzycia. Kontroler mozna teraz tatwo zamontowac i
zdemontowac jednym kliknigciem czerwonego przycisku.




A OSTRZEZENIA DOTYCZACE

BEZPIECZENSTWA

Produkt nie jest zabawka. Trzymaé poza zasiegiem
dzieci

Upewnij sie, ze wszystkie sruby i elementy mocujgce sg
dobrze dokrecone przed kazdym uzyciem

Uzywaj wytacznie z kompatybilnymi urzadzeniami,
zgodnie ze specyfikacjg LifThor

Nie modyfikuj ani nie manipuluj elementami
konstrukcyjnymi

Nieprawidtowe uzytkowanie moze spowodowac
uszkodzenie kontrolera lub podtgczonych urzadzen
Przed kazdym uzyciem sprawdz produkt pod katem
bezpieczenstwa i stabilnosci

Instrukcja dostepna jest na zyczenie rdwniez w innych
jezykach UE




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Manual do utilizador
PT - &




/\ INFORMAGCOES DE SEGURANCA E
CONFORMIDADE

Nome do produto: LifThor Tripod bracket for DJI RC PRO 2
Numero do modelo: LTH-TRBRP2
Numero de lote / série: SN2025XX (ver etiqueta do produto)

Fabricante:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Responsavel pela UE:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ INFORMACOES DE SEGURANCA E
CONFORMIDADE

Este produto estd em conformidade com o Regulamento (UE)
2023/988 relativo a seguranca geral dos produtos.

A documentagao técnica completa e a Declaragdo de
Conformidade estdo disponiveis mediante solicitagdo ou em:
www.lifthor.com/product-safety

O ficheiro técnico é mantido pelo responsavel na UE e sera
arquivado por pelo menos 10 anos a partir da data de colocagdo
do produto no mercado da UE.

Para pedidos, manuais traduzidos ou questGes relacionadas
com a seguranga, por favor contacte: support@lifthor.com



http://www.lifthor.com/product-safety

Conteudo da embalagem

e 1 xsuporte para tripé

e 1 xsuporte de libertagdo rapida pré-instalado
e 2 x parafusos de polegar (M4x8)

e 2 xchaves allen

e 2 xparafusos de cabeca arredondada (1/4"-20)




Instructiuni
de montaj

Alinhe o suporte para tripé com o encaixe do controlo remoto
conforme ilustrado. Fixe-o utilizando os parafusos de polegar M4
fornecidos.




Suporte de libertacao rapida pré-
instalado

O seu LifThor Tripod bracket for DJI RC PRO 2 é fornecido com um
suporte de libertagdo rdpida ja instalado, para maior comodidade.




Instalagdao no tripé

Fixe a pega inferior ao tripé da sua preferéncia, como o
StrapThor PRO Body Tripod.

Incluimos dois parafusos de cabega arredondada (1/4"-20) e as
respetivas chaves allen.

O suporte possui dois orificios de montagem — escolha o que
melhor se adequa ao seu tripé.

Apenas um parafuso é necessario.




Montagem final

Depois de ambas as pecas estarem firmemente instaladas,
o sistema esta pronto a ser utilizado.
Pode agora montar e desmontar o controlo remoto com
um simoles cliaue no botdo vermelho.




A AVISOS DE SEGURANCA

Este produto ndo é um brinquedo. Mantenha fora do
alcance das criangas

Certifique-se de que todos os parafusos e
componentes estdo bem apertados antes de cada
utilizagao

Utilize apenas com dispositivos compativeis conforme
especificado pela LifThor

N3do modifique nem altere os componentes estruturais
O uso indevido pode danificar o controlo remoto ou os
dispositivos conectados

Inspecione o produto antes de cada utilizacdo para
garantir seguranca e estabilidade

Este manual estd disponivel noutros idiomas da UE
mediante solicitagdo




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Hasznalati utmutaté

HU -




/\ BIZTONSAGI ES MEGFELELOSEGI
INFORMACIOK

Terméknév: LifThor Tripod bracket for DJI RC PRO 2
Modellszam: LTH-TRBRP2
Tétel-/sorozatszam: SN2025XX (lasd a termékcimkét)

Gyarto:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

EU-s felel6s személy:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ BIZTONSAGI ES MEGFELELOSEGI
INFORMACIOK

Ez a termék megfelel a (EU) 2023/988 szamu &ltalanos
termékbiztonsagi rendeletnek.

A teljes miszaki dokumentacio és a Megfelel6ségi Nyilatkozat
kérésre vagy az alabbi weboldalon érhet6 el:
www.lifthor.com/product-safety

A miszaki dokumentaciot az EU-s felelGs személy 6rzi, és
legaldbb 10 évig megé&rzésre keriil az EU piacara keriilés
id6pontjatdl szamitva.

Kérdések, forditasi kérések vagy biztonsaggal kapcsolatos
informacidk esetén kérjuk, forduljon hozzank:
support@lifthor.com



http://www.lifthor.com/product-safety

A csomag tartalma

e 1 x allvanyrogzité konzol

e 1xel6re felszerelt gyorskioldd konzol
o 2 xrecézett fejl csavar (M4x8)

e 2 ximbuszkulcs

o 2 xfélgomb fejli csavar (1/4"-20)




Szerelési utmutato

Igazitsa az allvanyrogzitét a vezérl6 konzoljahoz az abra szerint.
A mellékelt M4-es recézett fejl csavarokkal rogzitse.




Elore felszerelt gyorskioldé konzol

A LifThor Tripod bracket for DJI RC PRO 2 gyarilag el6re felszerelt
gyorskioldd konzollal érkezik a kdnnyebb haszndlat érdekében.




Allvanyra szerelés

Rogzitse az alsé részt az On altal valasztott dllvanyhoz — példaul a
StrapThor PRO Body Tripodhoz.

A csomag két félgomb fejli csavart (1/4"-20) és a megfeleld
imbuszkulcsokat tartalmazza.

A konzolon két rogzit6 furat talalhaté — valassza azt, amelyik
jobban illeszkedik az allvanyahoz.

Csak egy csavarra van sziikség.




Végszerelés

Miutdn mindkét alkatrészt biztonsagosan rogzitette, a
termék hasznalatra kész.
A vezérl6 egység most mar konnyen fel- és leszerelhetd a
piros eomb egvszer(i megnvomasaval.




A BIZTONSAGI FIGYELMEZTETESEK

Ez a termék nem jaték. Tartsa gyermekektdl tavol
Hasznalat el6tt mindig ellenérizze, hogy minden
csavar és rogzit6elem megfelel6en meg van hlzva
Csak a LifThor altal megadott kompatibilis
eszkdzokkel hasznalja

Ne médositsa és ne szerelje szét a szerkezeti
elemeket

A nem rendeltetésszer(l hasznalat a vezérl6 vagy
mas csatlakoztatott eszk6zok sériiléséhez
vezethet

Hasznalat el6tt minden alkalommal ellenérizze a
terméket a biztonsag és a stabilitds érdekében

Ez a kézikdnyv mas EU-s nyelveken is elérhetd
kérésre




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Manual de utilizare

RO-H B




A INFORMATII PRIVIND SIGURANTA $I
CONFORMITATEA

Nume produs:LifThor Tripod bracket for DJI RC PRO 2
Numar model: LTH-TRBRP2
Numar lot / serie: SN2025XX (vezi eticheta produsului)

Producator:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Persoana responsabila in UE:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ INFORMATII PRIVIND SIGURANTA S
CONFORMITATEA

Acest produs respecta Regulamentul (UE) 2023/988 privind
siguranta generald a produselor.

Documentatia tehnica completa si Declaratia de Conformitate
sunt disponibile la cerere sau online la:
www.lifthor.com/product-safety

Fisierul tehnic este pastrat de persoana responsabila din UE si
va fi arhivat timp de cel putin 10 ani de la introducerea
produsului pe piata UE.

Pentru intrebari, manuale traduse sau informatii despre
siguranta, va rugam sa contactati: support@lifthor.com



http://www.lifthor.com/product-safety

Continutul pachetului

e 1 xsuport pentru trepied

e 1xsuportcu eliberare rapida preinstalat
e 2 xsuruburicu cap striat (M4x8)

e 2 xcheiimbus

e 2 xsuruburicu cap rotund (1/4"-20)




Instructiuni

de montaj

Aliniati suportul de trepied cu sistemul de prindere al controlerului,
conform imaginii. Asigurati-l folosind suruburile M4 incluse.




Suport cu eliberare rapida preinstalat

LifThor Tripod bracket for DJI RC PRO 2 este livrat cu un suport cu
eliberare rapida deja montat pentru confort sporit.




Montare pe trepied

Atasati partea inferioara la trepiedul dorit — de exemplu,
StrapThor PRO Body Tripod.

Doua suruburi cu cap rotund (1/4"-20) si cheile imbus
corespunzatoare sunt incluse.

Suportul are doua orificii de montare — alegeti-l pe cel care se
potriveste cel mai bine cu trepiedul dvs.

Este necesar un singur surub.




Asamblare finala

Dupa ce ambele piese sunt fixate ferm, produsul este gata
de utilizare. Puteti monta si demonta controlerul printr-un
simplu clic pe butonul rosu.




A AVERTISMENTE DE SIGURANTA

Acest produs nu este o jucarie. A nu se lasa la
indemana copiilor

Verificati daca toate suruburile si componentele sunt
bine stranse Thainte de fiecare utilizare

Folositi doar cu dispozitive compatibile, conform
specificatiilor LifThor

Nu modificati si nu interveniti asupra componentelor
structurale

Utilizarea incorecta poate duce la deteriorarea
controlerului sau a dispozitivelor conéctate

Verificati produsul inainte de fiecare utilizare pentru a
asigura siguranta si stabilitatea

Manualul este disponibil si in alte limbi ale UE, la
cerere




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Anvandarmanual

SV- mmm




/\ SAKERHETS- OCH
OVERENSSTAMMELSEINFORMATION

Produktnamn: LifThor Tripod bracket for DJI RC PRO 2
Modellnummer: LTH-TRBRP2
Parti-/serienummer: SN2025XX (se produktetiketten)

Tillverkare:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Ansvarig inom EU:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ SAKERHETS- OCH
OVERENSSTAMMELSEINFORMATION

Denna produkt uppfyller kraven i EU-férordning 2023/988
om allman produktsakerhet.

Fullstandig teknisk dokumentation och férsakran om
overensstimmelse finns tillgdnglig pa begéaran eller via:
www.lifthor.com/product-safety

Den tekniska dokumentationen forvaras av den ansvarige
inom EU och kommer att bevaras i minst 10 ar fran det
datum da produkten slapptes ut pa EU-marknaden.

For fragor, 6versatta manualer eller sédkerhetsinformation,
vanligen kontakta: support@lifthor.com



http://www.lifthor.com/product-safety

Forpackningens innehall

e 1 xstativfaste

e 1 xforinstallerat snabbfaste

e 2 xtumskruvar (M4x8)

e 2 xinsexnycklar

e 2 xrundskalle-skruvar (1/4"-20)




Monteringsanvisningar

Justera stativfastet mot kontrollerns monteringspunkt enligt
illustrationen. Fast det med de medféljande M4-tumskruvarna.




Forinstallerat snabbfaste

Ditt LifThor Tripod bracket for DJI RC PRO 2 levereras med ett
forinstallerat snabbfaste for 6kad bekvamlighet.




Montering pa stativ

Fast den nedre delen pa ditt valda stativ — exempelvis
StrapThor PRO Body Tripod.

Tva rundskalle-skruvar (1/4"-20) och tillhérande
insexnycklar ingar.

Fastet har tva monteringshal — valj det som passar bast till
ditt stativ.

Endast en skruv behovs.




Slutmontering

Nar bada delarna ar sdakert monterade ar produkten redo
att anvandas.
Du kan nu snabbt montera och ta bort kontrollern med ett
enkelt klick ba den réda knaonnen.




A SAKERHETSVARNINGAR

Denna produkt ar inte en leksak. Férvara utom
rackhall for barn

Kontrollera att alla skruvar och monteringsdelar
sitter ordentligt fast fore varje anvandning
Anvand endast med kompatibla enheter enligt
LifThors specifikationer

Modifiera eller manipulera inte de strukturella
delarna

Felaktig anvandning kan skada kontrollenheten
eller anslutna enheter

Inspektera alltid produkten fore varje anvandning
for att sakerstalla sakerhet och stabilitet
Manualen finns tillganglig pa andra EU-sprak pa
begaran




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




Tripod bracket for
DJI RC PRO 2

by Thor’s Drone World

Brukermanual

NO - 3les




/\ SIKKERHETS- OG
SAMSVARSINFORMASJON

Produktnavn:LifThor Tripod bracket for DJI RC PRO 2
Modellnummer: LTH-TRBRP2
Parti-/serienummer: SN2025XX (se produktetikett)

Produsent:

EURYCA AS / Thor’s Drone World
Revdalsvegen 47, 7563 Malvik, Norway
Email: thor@thorsdroneworld.com

Ansvarlig i EU:

Tore Kvittem

Revdalsvegen 47, 7563 Malvik, Norway
Email: support@lifthor.com




/\ SIKKERHETS- OG
SAMSVARSINFORMASJON

Dette produktet er i samsvar med forordning (EU)
2023/988 om generell produktsikkerhet.

Full teknisk dokumentasjon og samsvarserkleering er
tilgjengelig pa forespgrsel eller pa:
www.lifthor.com/product-safety

Den tekniske dokumentasjonen oppbevares av ansvarlig i
EU og vil lagres i minst 10 ar fra datoen produktet ble
introdusert pa EU-markedet.

For sp@grsmal, oversatte manualer eller
sikkerhetsinformasjon, kontakt: support@lifthor.com



http://www.lifthor.com/product-safety

Pakkens innhold

e 1xstativfeste

e 1xforhandsmontert hurtigfeste
e 2 x tommeskruer (M4x8)

e 2 xunbrakongkler

e 2 xrundhodede skruer (1/4"-20)




Monteringsveiledning

Juster stativfestet mot kontrollerfestet som vist.
Fest det med de medfglgende M4-tommeskruene.




Forhandsmontert hurtigfeste

LifThor Tripod bracket for DJI RC PRO 2 leveres med et
forhandsmontert hurtigfeste for enklere bruk.




Montering pa stativ

Fest den nedre delen til gnsket stativ — for eksempel
StrapThor PRO Body Tripod.

To rundhodede skruer (1/4"-20) og tilhgrende
unbrakongkler er inkludert.

Festet har to monteringshull —velg det som passer best til
stativet ditt.

Kun én skrue er ngdvendig.




Endelig montering

Nar begge delene er trygt festet, er du klar til 3 bruke
produktet.
Du kan na enkelt montere og demontere kontrolleren med
et klikk pa den rgde knappen.




A SIKKERHETSADVARSLER

Dette produktet er ikke et leketgy. Oppbevares
utilgjengelig for barn

Serg for at alle skruer og monteringskomponenter
er godt festet fgr hver bruk

Bruk kun med kompatible enheter som spesifisert
av LifThor

Ikke endre eller manipuler de strukturelle
komponentene

Feil bruk kan fgre til skade pa kontrolleren eller
tilkoblede enheter

Inspiser alltid produktet fgr bruk for 3 sikre
sikkerhet og stabilitet

Manualen er tilgjengelig pa andre EU-sprak ved
forespgrsel




www.lifthor.com

THOR'S ORONE WORLD

0=

MADE IN
*NORWAY

PREMIUM QUALITY




	Table of Contents
	Tripod  DJI RC PRO 2  -EN
	Tripod DJI RC PRO 2 - DE
	Tripod DJI RC PRO 2 - FR
	Tripod DJI RC PRO 2 - ES
	Tripod DJI RC PRO 2 - IT
	Tripod DJI RC PRO 2 - NL
	Tripod DJI RC PRO 2 - PL
	Tripod DJI RC PRO 2 - PT
	Tripod DJI RC PRO 2 - CZ
	Tripod DJI RC PRO 2 - RO
	Tripod DJI RC PRO 2 - HU
	Tripod DJI RC PRO 2 - SV
	Tripod DJI RC PRO 2 - NO

